


CP-12 
..----- TMCE-601 THREAD STAND -----------------. 

�R�2�~� 
R4'1--CII 
P22-(9 

L-----------iijpl- .... �-�-�-�-�-�-�~� �.�~� ...... (BH07) 

From the library of: Superior Sewing Machine & Supply LLC



TMCE-601 THREAD STAND 
CP-12 

Ref.No. Description Part No. Remark 
. .................... 

1 Thread Stand Plate CL0616010000 
2 Thread Course CL0617010000 
3 Adjusting Screw EF09090AOOOO 
4 Tens ion Spring EF0908000000 
5 Thread Course Tension Disk EF0913000000 ! 

6 Thread Course Tens ion Stud EF0914000000 
7 iThread Course Thread Guide EF0912000000 
8 1 Thread Stand Stud ! EF0939010000 
9 Thread Stand Shaft CT0603010000 
10 ;Thread Stand Felt EF0940000000 
11 ~Thread Stand Plate Attaching Bracket CT0604000000 
12 !No.1 Tension Set UN150500B001 
13 i Cushion Rubber EC0829010000 
14 

15 

16 
17 
18 

19 
20 
21 
22 
23 
24 
25 
26 
27 
28 
29 
30 
31 
32 
33 
34 
35 
36 
37 
38 

39 
40 
41 
42 
43 
44 

45 
46 
47 
48 

49 
50 

Note: As for parts With marks #or *, please follow our mstruct10ns on Table of Contents m your parts order. (BH07) 

From the library of: Superior Sewing Machine & Supply LLC



CP-13 
TMCE-601 BORDER FRAME-----------------------------

From the library of: Superior Sewing Machine & Supply LLC



TMCE-601 BORDER FRAME 
CP-13 

Ref.No. Description Part No. Remark 

1 Border Frame CL0305000000 
2 Border Felt ! CX0386000000 - -
3 Border Frame L-plate CX0302010000 
4 Frame Corner CX03C3000000 
5 Glued Corner Spacer EC0201000000 
6 Border Frame Spacer EC0202000000 
7 Border Frame Clip MX0320AO**** For Y-axis 

7 Border Frame Clip EF030700**** For X-axis 

8 

9 
10 
11 I 

12 I 

13 I 

I 

14 I 

15 i 

16 I 
17 

18 
19 
20 
21 
22 
23 
24 
25 

---

26 
27 
28 

29 
30 
31 
32 
33 
34 
35 ' ! 

36 
37 

38 
39 
40 
41 
42 
43 
44 

45 i 

46 
47 
48 
49 

Note: As for parts wtth marks #or *, please follow our mstruct10ns on Table of Contents m your parts order. (BH07) 

From the library of: Superior Sewing Machine & Supply LLC



TMCE-601 ELECTRIC PARTS 

25 

32 

33 

-19 

.844 
~R40 
®-R21 

82~ 
17 R16.-.@ 

~ 
18 

(BH07) 

From the library of: Superior Sewing Machine & Supply LLC



TMCE-601 ELECTRIC PARTS 
CP-14 

Ref.No. Description Part No. Remark 

1 Controller EC5102A10000 
2 FIP (Indicator Assembly) PB000400LPOO 
3 CPU Card MX5101A40000 
4 • Switch Card MX5102000000 
5 • Extension Card CL5101060000 
6 I Floppy Disk Drive PBOOOBOOREOO 
7 FDD Connector Conversion Set MX5104000000 
8 Operation Panel Switch Sheet EC5101000000 
9 Push-button Switch PB0019DOSPOO 

10 Push-botton Switch Emergency Stop Plate PB0019COSPOO 
11 Circuit Protector PB002500KAOO 
12 Terminal Base PB002600KAOO 
13 Switch Guard CX08J1510000 
14 Breaker Lcok I CX08J1800000 
15 Surge Protector PB001500RSOO 
16 Noise Filter PBOOOBOOFMOO 
17 Joint Card (PC Board) MX6101000000 
18 Joint Card Base : ECOF18000000 
19 Power Supply Driver Unit CL5605000000 
20 Electrical Component Parts Base ECOF06000000 
21 DO Power Supply EC5603000000 
22 DO Power Supply PB0025A1PWOO 
23 DO Power Supply PB002600PWOO 
24 Card Bracket ECOF07000000 
25 Stud Bolt ECOF16000000 I 

26 X/Y-Axis Driver EC6102010000 
27 Head Card CL6102000000 
28 Fin A ECOF19000000 
29 Fin B ECOF20000000 
30 Fin 0 ECOF21000000 r 

31 FinD ECOF22000000 
32 Card Support ECOF08000000 
33 Guide Rail PB004100EBOO 
34 Main Shaft Driver CX5602070000 
35 iFan Attaching Base ECOF23000000 
36 Stud Bolt ECOF11000000 
37 •Fan PB000900BFOO 
38 I 

39 I 

40 i 
41 
42 I 

43 i 

44 
45 
46 
47 
48 

I 

I 
49 
50 

Note. As for parts wtth marks# or*, please follow our mstructtons on Table of Contents m your parts order. (BH07) 

From the library of: Superior Sewing Machine & Supply LLC



A·B 
No. Part No. Remark No. Part No. Re•ark 

A Flat Fi II ister Head Screw B19 SS6203200TNO M3X20 

Al I SM15015450GN 1/BX44X5 B20 SS6203250TNO M3X25 

A2 SM15015455GN 1/BX44X5.5 B21 SS6204050TDO M4X5 

A8 SM15015460GN 1/8X44X6 B22 SS6204050TNO M4X5 

A4 SM16515530GN 9/64X40X3 B23 SS6204060TNO M4X6 

A5 SM14020540GN 9/64X40X4 B24 SS6204080TOO M4X8 

A6 SM16516540SA 0/64X40X4 B25 SS6204080TNO M4X8 

A7 SM17010540GN 9/64X40X4 B26 SS6204100TDO M4x10 

A8 SM1E515550CN 9/64X40X5 B27 SS6204100TNO M4X10 

A9 SM14020560GN 9/64X40X6 B28 SS6204120TDO M4X12 

AlO SM15525560GN 9/64X40X6 B29 SS6204120TNO M4x12 

All SM15526570GN 9/64X40X7 BBO SS6204150TNO M4X15 

A12 SM15020580GN 9/64X40X8 B31 SS6204180TNO M4X18 

AlB SM15530580CN 9/64X40X8 B32 SS6204200TOO M4X20 

A14 SM16025580GN 9/64X40X8 BBB SS6204200TNO M4X20 

A15 SM150205AOCN 9/64X40X10 B84 SS6204250TNO M4X25 

A16 SM150205COGN 9/64X40X12 BB5 SS6204250TN1 M4X25 

A17 SM150205FOGN 9/64X4QX15 B36 SS6204300TNO M4X30 
... 

AlB SM15422643TN 11/64X40X4.3 B37 SS6204350TNO M4X35 

A19 SM17017670GN 11/64X40X7 B38 SS6204400TNO M4X40 

A20 SM1G035675CN 11/64X40X7. 5 B39 SS6204450TNO M4X45 

A21 SM10825690SH 1 1/6 4 X 4 0 X 9 B40 SS6205060TNO M5X6 

A22 SM146266B5CN 1 1 /6 4 X 4 0 X 1 1. 5 B41 SS6205080TOO MSXS 

A2H SM172316COCN 11/64X40X12 B42 SS6205080TNO M5X8 

A24 SS6003080SCO M3XB B43 SS6'205100TOO M5X10 

A25 SS6003080SOO M3XB B44 SS6205100TNO M5X10 

A26 SS6003100CCO M3X10 B45 SS6205100TPO M5X10 

A27 SS6004100SCO M4X10 B46 SS6205120TNO M5X12 

B47 SS6205140TNO M5X14 

B48
1 

SS6205150TDO M5X15 

B49; SS6205150TNO M5X15 

B Hexagon Socket Head Cap Screw B50 SS6205160TNO M5X16 

Bl SS6202080TDO M2X8 B51 SS6205180TNO M5X18 

B2 SS6202100TDO M2x10 B52' SS6205200TDO M5X20 

B3 SS6276050TNO M2.6X5 B53 SS6205200TNO M5X20 

B4 SS6203030TNO iM3 X 3 B54 SS6205220TNO M5X22 

B5 SS6203040TNO iM3 X 4 B55 SS6205230TNO M5X23 

B6 SS6203050TNO M3X5 B56 SS6205250TNO M5x25 

B7 SS6203060TDO M3X6 B57: SS6205300TNO M5X30 

BB SS6203060TNO M3X6 B58. SS6205350TNO M5X35 

B9 SS6203080TOO M3X8 B59! SS6205350TN1 M5X35 

BlO SS6203080TNO M3X8 B60 I SS6205500TNO M5X50 

Bll SS6203100TDO M3X10 B61 I SS6205500TN1 M5X50 

B12 SS6203100TNO M3X10 B62 I SS6205550TNO M5X55 

BlB SS6203120TNO M3X12 B63: SS6205600TNO M5X60 

B14 SS6203150TDO M3X15 B64! SS6205600TN1 M5X60 

B15 SS6203150TNO M3X15 D65i SS6206080TNO M6XS 

B16 SS6203160TNO M3X16 B66 SS6206090TNO M6X9 

Bl7 SS6203180TNO M3X18 B67 SS6206100TNO M6X10 

Bl8 SS6203200TDO M3X20 Hti8 SS6206120TNO M6X12 

(BH07) 

From the library of: Superior Sewing Machine & Supply LLC



B·C·D·E 
No. Part No. ! Re•ark No. Part No. Re111ark 

B Hexagon Socket Head Cap Screw Cl3 SS9306750SCO M6X75 

B69 SS6206150TNO M6X15 C14 SS9308150TNO .M8X15 

B70 SS6206180TNO M6X18 Cl5 SS9308180TNO ' M8Xl8 

B71 SS6206200TNO M6X20 Cl6 SS9310300TNO M10X30 

B72 SS6206250TNO M6X25 Cl7 SS9310350SCO M10X35 

B73 SS6206300TNO M6X30 ClB SS9310350TNO M10X35 

B74 SS6206350TNO M6X35 Cl9 SS9310400SC1 M10X40 

B75 SS6206400TNO M6X40 C20 SS9312500TNO M12X50 

B76 SS6206450TNO M6X45 

B77 SS6206450TN1 M6x45 I 
I 

87R SS6206500TN1 M6X50 

B79 SS6206650TNO M6x65 

BBO SS6506750TN1 M6X75 D Round Fillister Head Screw 
881 SS6206800TN1 Mexso Dl I SM66514540CL I 9./64X40X4 

B82 SS6206AOOTNO M6X100 D2 I SM66015550CL 9/64X40X5 

B83 SS6208120TNO M8X12 D3 : SM66015550CN 9/64X40X5 

B84 SS6208150TNO M8x15 D4 SM67018550GN 9./64X40X5 

B85 SS6208150TPO M8X15 D5 : SM67020550CN 9/64X40X5 

B86 SS6208200TNO M8X20 D6 SM66015560CL 9./64X40X6 

B87
1 

SS6208250TNO M8x25 D7 SM66015560CN 9./64x40X6 

B88 SS6208300TNO M8X30 DB SM67020560CL 9/64X40X6 

B89. SS6208350TNO M8x35 D9 SM67020560CN 9/64X40X6 

B90 SS6208400TNO M8X40 DlO SM65817568CN 9/64X40X6.8 

B91 SS6208400TN1 M8x40 Dll SM67020580CN 9/64X40XB 

B92 SS6208450TNO MBx45 Dl2 SM660255AOCN 9/64X40X10 

B93 SS6208450TN1 1MB X 4 5 Dl3 SM670205COCN 9/64X40X12 

B94 SS6208500TNO IM8 X 50 D14 SM67015660CL 11/64X40X6 

B95 SS6208600TNO 1MB X 6 0 Dl5 SM67010665CL 1 1 /6 4 X 4 0 X 6 5 
--

B96 SS6208700TNO M8x70 Dl6 SM675306COCN 1 1 /6 4 X 4 0 X 1 2 

B91 SS6210250TNO M10X25 Dl7 SM675256FOCN '1 1 ./6 4 X 4 0 X 1 5 

B.98 SS6210300TNO M10X30 Dl8 SM69065CQ5CN 9/3 2 X 2 8 X 2 4. 5 

B99 SS6210400TNO M10X40 Dl9 SS7003050SOO :M3 X5 

BlOO SS6212300TNO M12x30 

c Hexagon Bolt E Pan Head Screw 
Cl SS9303060SDO M3x6 El SS41640 14MZO M1.4X1.4 

C2 SS9304080SDO M4x8 E2 SS4102030MZO M2X3 

C3 SS9305100SDO M5X10 E3 SS4102040MZO M2X4 

C4 SS9305150SCO M5X15 E4 SS4102080MZO M2X8 

C5 SS9305150SDO M5x15 E5 SS4175030MZO M2.5X3 

C6 SS9305200SDO M5X20 E6 SS4175040MZO M2.5X4 

C7 SS9306150SCO M6X15 E7 SS4175050MZO M2.5X5 

CB SS9306450SDO M6X45 EB SS4175080MZO M2. 5 X 8 

C9 SS9306500SCO M6X50 E9 SS4175130MZO M2.5X13 

ClO: SS9306500SDO M6X50 ElO SS4175130SDO M2.5X13 

Cll SS9306550SOO M6X55 Ell SS4103030MZO M3X3 

Cl2 SS9306650SDO M6x65 El2 SS4103030SDO M3X3 

(I3H07) 

From the library of: Superior Sewing Machine & Supply LLC



E·F·G 
No. Part No. I Reraark No. Part No. Re•ark 

E Pan Head Sorew F4 SS1103040MZO M3X4 
............. 

E13 SS4103040GOO M3X4 F5 SS1103040SDO M3X4 

E14 SS4103040MZO M3X4 F6 SS1103050SDO M3x5 

E15 SS4103040SDO M3X4 F7 SS1003060SDO M3X6 

Ele SS4103050MZO M3X5 FB SS1103060MZO iM3 X6 

E17 SS4103050SDO :Ma x5 F9 SS1103060SDO 1 M3 X 6 

ElBI SS4103060MZO 1M3 X 6 FlO SS1103070SDO M3X7 

E19 SS4103060SAO M3X6 Fll SS1003080SDO M3xS 
··-· 

E20 SS4103060SDO M3X6 F12 SS1103080MZO M3X8 

E21 SS4103080MZO M3XS F18 SS1103080SCO M3XS 

E22 SS4103080SAO M3x8 F14 SS1103080SDO M3X8 

E23 SS4103080SDO M3X8 F15 SS1103080SNO M3X8 

E24 SS4103100SC1 M3X10 F16 SS1103100SDO M3X10 

E25 SS4103100SDO M3X10 F17 SS1103120MZO M3X12 

E26f SS4103120MZO M3X12 FIB SS1103120SDO M3X12 

E.'27 i SS4103120SDO M3x12 Fl9 SS1103150MZO M3X15 

E28! SS4103140SAO M3X14 F20 SS1103160SDO M3X16 

E29 i SS4103140SDO M3X14 F21 SS1104050SDO M4X5 
·----··-·· 

E30 1 SS4103150SDO M3X15 F22 SS1104060SDO M4X6 

E81! SS4103400SD1 M3X40 F28 SS1104080MZO M4X8 

E32: SS4103500SD1 M3X50 F24 SS1104080SDO M4X8 

E33! SS4104040SDO M4X4 F25 SS1104100MZO M4X10 

E34 I SS4104050SDO M4X5 F26 SS11 041 OOSDO M4X10 

F-35 SS4104060MZO M4X6 F27 SS1104120SDO M4X12 

E36 SS4104060SDO M4X6 F28 SS1104140SDO M4X14 

E37 SS4104080SDO M4X8 F29 SS1104150SDO M4X15 

EBB SS4104100SDO M4x10 F30. SS1104200SDO M4X20 

E39 SS4104120SDO M4X12 F31 SS1104220SDO M4X22 

E40 SS41 04150800 M4X15 F32' SS1104250SDO M4X25 

E41 SS4104180SDO M4X18 F:J:J I SS1105060SDO M6X6 

E42 SS41 04500SDO M4X50 F34 SS1105080SDO M5X8 

E43 SS4104600SD1 M4x60 F35 SS1105100SDO M5X10 

E44 SS4105060SDO M5X6 F:J6 SS1105120SDO M5XI2 

E45 SS4105070SDO M5X7 F37 SS1105150SDO M5X15 

E46 SS4105080SDO M5X8 F38 SS1105300SDO M5X30 

E."47 SS4105100MZO M5X10 F39 SS1105350SDO M5X35 

E48 SS4105100SDO M5X10 F40 SS1106150SCO M6X15 

E49 SS4105120SDO M5X12 F41 SS1106150SDO M6X15 

E50 SS4105300S01 M5X12 F42 SS1106350SDO M6X35 

E51 SS4105150SOO M5x15 F43 SS1108120SDO M8X12 

E52 SS4105450SD1 M5X45 F44 SS1108700TNO M8X70 

E53 SS4105500SD1 M5X50 

E54 SS4105600SD1 M5X60 

F Countersunk Head Screw G Round Countersunk Head Sorew 
Fl SMA55005AOGN i9/64X40X10 Gl SMG5000460GL 1/8X44X6 

F2 SMB7000680CN 11/64x4oxa G2 SMG5000530GL 9/64X40X3 

F3 SS1102060SDO 1M2 x 6 Gil SMC5000535GL 9/64X4QX3.5 

(BH07) 

From the library of: Superior Sewing Machine & Supply LLC



No. Part No. Re•ark No. Part No. Re•ark 
G Round Countersunk Head Screw H40 SS0105080SDO M5X8 

G4 SMC5000540CL 9/64X40X4 H41 SS0105100CBO M5X10 
-· -

Go SMC5000560CL 9/64X40X6 H42 SSO 1 051 OOSDO M5X10 

G6 SMC5000570CL 9/64X40X7 H4/J SS0105120SOO M5X12 

G7, SMC5000595CL 9/64X40x9.5 H44 SS0105150SOO M5X15 

H45 SS0105200SOO M5X20 

H46 SS0105250SOO M5X25 
--

H47 SS0106080SOO M6X8 

H48 SS0106100SOO M6X10 

H4.9 SS0106220SOO M6X22 

lliTruss Head Screw H50 SS0106250SOO M6X25 

Hl SMF6016470CL 1/8X44X7 H51 SS0106350SOO M6X35 

H2; SMF8020530CL 9/64X40X3.5 H52 SS0106400SOO M6X40 

H3 SMF8020540CL 9/64X40X4 

H4 SME9510540CM 9/64X40X4 

H5 SMF8020560CL 9/64X40X6 

H6 SMF8020680CL 9/64X40X8 J Round Head Screw 
HI SS0175030MZO M2. 5 X 3 ]1 SS3102030MZO M2X3 

HB i SS0175030SDO M2.5X3 ]2 SS3103080SOO M3X8 

H9 SS0175040MZO M2. 5 X 4 j:J SS3103080SEO M3XS 

HlO SS0175040SAO M2.5X4 ]4 SS3103100MZO M3X10 

Hll SS0175040SDO M2. 5 X 4 

Hl2• SS0103030MZO M3X3 

Hl3 SS0103030SDO M3X3 

Hl4 SS0103040SDO M3X4 

Hl5! SS0103050MZO M3X5 

Hl6 SS0103050SDO M3X5 K Slotted Set Screw 
H17 SS0103060MZO M3X6 Kl SMK0000435CN 1/8x44X3.5 

---

Hl8 SS0103060SDO M3X6 K2 SMK0000560CN 9/64X4QX6 

Hl9i SS0103060SAO M3X6 K3 SMK0000625CN 11/64X40X2.5 

H2o; SS0103080SOO M3X8 K4 SMK0000635CN 11/64X40X3.5 

H21 1 SS0103080SAO M3X8 K5 SMK0000640CN 11/64X40X4 

H22 SS0103100MZO M3X10 K6 SMK0000650CN 11/64X40X5 

H23 SS0103100SDO M3X10 K7 SMKOOOOA50CN 15/64X28X5 

H24 SS0103200SDO M3X20 KB SMKOOOOAAOCN 15/64X28X10 

H25 SS0104050SDO M4x5 K9 SMKOOOOAFOCN 15/64X28X15 

H26 SS0104060MZO M4X6 K10 SMKOOOOAHOCN 15/64X28X17 

H27 SS0104060SDO M4X6 Kll SMKOOOOB40CN 1/4X40X4 

H28' SS0104080MZO M4XB Kl2 SMKOOOOB45CN 1/4X40X4.5 

H29 i SS0104080SDO M4X8 K1S SMKOOOOB50CN 1/4x40X5 

H30 SS0104080SD2 M4x8 Kl4 SMKOOOOB60CN 1/4X40X6 

H31 SS0104100MZO M4X10 Kl5 SMKOOOOB80CN 1/4X40X8 

H32 SS0104100SDO M4x10 Kl6 SMKOOOOCGOGN 9/32X28X12 

H33 SS0104120SDO M4x12 K17 SS8005060TNO M5X6 

H34 SS0104150SDO M4x15 

H35 SS0104200SDO M4X20 

H36 SS0105050SDO M5X5 

H37 SS0105060SDO M5X6 
~ 

I H38 SS0105065SDO M5x6.5 I 

H39 SS0105070SDO M5X7 

(BH07) 

From the library of: Superior Sewing Machine & Supply LLC



No. Part No. Re•ark No. Part No. Re•ark 
L Hexagon Socket Head Set Screw N3 SSA004080000 M4X8 

L1 SMJ0000425CN 1/8X44X2.5 N4 SSA004100000 1M4 X 1 0 

L2 SMJ0000690CN 11/64X28X9 N5 SSA004550000 IM 4 X 55 

L3 SMJ0000640CN 11/64X40X4 N6 SSA005100000 M5X10 

L4 SMJ0000660CN , 1 1 /6 4 X 4 0 X 6 NT SSA005120000 M5X12 

L5 SMJ0000680CN '1 1 /6 4 X 4 0 X 8 N8 SSA005140000 M5X14 

L6 SMJOOOOA40CN '15/64X28X4 N9 SSA005180000 M5X18 

L1 SMJOOOOA90CN !15/64X28X9 

L8 SS8203020TNO M3X2 

L9 SS8203030TNO M3X3 

LlO SS8203040TNO M3X4 

Lll SS8203050TNO M3X5 

L12 SS8203060TNO M3X6 p Nut 
L13 SS8203080TNO M3xs Pl I SMN046030CNO 1/SX44X6X3 

L14 SS8204030TNO M4X3 P2 I SMN056030CNO 9/64X40X6X3 I 

L15 SS8204040TNO M4x4 P3 I SMN066020CNO 1 1 /6 4 X 4 0 X 6 X 2 I 

L16 SS8204050TNO M4X5 P4 SH66030CNO 1 1 /6 4 X 4 0 X 6 X 3 

L17 SS8204060TNO M4X6 P5 SMN067030CNO 11/64X40X7X3 

LlB SS8204060TN1 M4X6 P6 SMN167030CNO 1 1 /6 4 X 4 0 X 7 X 3 

L19 SS8204080TNO M4xs P1 SSN002SDOOOO M2 Type 1 

L20 SS8204100TNO M4X10 P8 SSN073SDOOOO M2. 3 Type 1 

L21 SS8204120TNO M4x12 pg SSN075MZOOOO M2. 5 Type 1 

L22 SS8205040TNO M5X4 PlO SSN003MZOOOO M3 Type 1 

L23 SS8205050TNO M5X5 Pll SSN003SCOOOO M3 Type 1 

L24 SS8205060TNO M5X6 P12 SSN003SOOOOO M3 Type 1 

L25' SS8205080TNO M5X8 P13 SSN403SDOOOO M3 Thumbscrew Type 2 

L26 SS8205100TNO M5X10 P14 SSN203SCOOOO M3 Type 3 

L211 SS8205120TNO M5X12 P15 SSN203SDOOOO M3 Type 3 

L28 SS8205150TNO M5X15 P16 SSN285SCOOOO M3. 5 Type 3 

L29 SS8206050TNO M6X5 P17 SSN004SCOOOO M4 Type 1 

LBO SS8206060TNO M6X6 PJB SSN004SDOOOO M4 Type 1 

L31 SS8206080TNO M6X8 P19 SSN204SCOOOO M4 Type 3 

L32 SS8206100TNO M6X10 P20 SSN204SDOOOO M4 Type 3 

L33 SS8206180TNO M6X18 P21 SSN005SCOOOO M5 Type 1 

L34 SS8208080TNO M8X8 P22 SSN005SDOOOO M5 Type 1 

L35 SS8208100TNO M8X10 P23 SSN205SCOOOO M5 Type 3 

L36 SS8208150TNO M8X15 P24 SSN205SDOOOO !M5 Type 3 

P25 SSN605SDOOOO M5 Gap Screw 

M Hexagon Socket Head Button Screw P26 SSN006SCOOOO M6 Type 1 

Ml SS3203050SCO M3X5 P27 SSN006SC1000 M6 Type 1 (Left) 

M2 SS3204060SCO iM4 X6 P28 SSN006SOOOOO M6 Type 1 

M3 SS3205100SCO 1M5 X 1 0 P29 SSN006SD1000 M6 Type 1 (Left) 

M4 SS3205100SDO 1M5 X 1 0 P30 SSN206SCOOOO M6 Type 3 

P31 SSN008SCOOOO MS Type 1 

P32: SSN008SOOOOO MS Type 1 

P33 SSN208SCOOOO MS Type 3 

P84 SSN208SDOOOO MS Type 3 

N Screw with Washer P35 SSN010SCOOOO M10 Type 1 

Nl SSA003080000 M3X8 P36 SSN710CDOOOO M10 with Flange 

N2 SSA003180000 M3X18 P31 SSN710SCOOOO M10 with Flange 

(BH07) 

From the library of: Superior Sewing Machine & Supply LLC



P·R 
No. ! Part No. Re111ark No. : Part No. Re~aark 

p Nut R41 WSS050000KDO Spring M6 

P38 SSN012SCOOOO M12 Type 1 R42 WSS060000KCO Spring M6 

P39 SSN212SCOOOO M12 Type 3 R43 WSS060000KDO 
1

Spr ing M6 

P40 SSN216SCOOOO :M 1 6 Type 3 R44 WSS080000KCO 'Spring MS 

P41 SSN020SCOOOO IM20 Type 1 R45 WSS080000KDO Spring MS 
I -

R46 WSS100000KCO Spring M10 

R47 WSS120000KCO Spring M12 

R48 WSW06B003TPO Wave M4 

R49 WSW06A503TNO Wave M6 

R Washer R50 WSL048505TPO With teeth M4 

Rl WSP640303MZO Plain M1.4X3X0.3t R51 WSL05A006TPO With teeth M5 

R2 WSP023505XZO Plain M2X3.5X0.5t R52 WSNOSOOOOSCO Slant MS 

R8 WSP767505XBO Plain M2. 6X7. 5X0. 5 t R53 WSC048005SCO Disk Spring M4 

R4 WSP036003XZO Pl•in M3X6X0.3t 

R5 WSP036005SCO Plain M3X6X0.5t 

R6 WSP037005SDO Plain M3X7X0.5t 

RT WSP038003SDO Plain M3X8X0.3t 

RB WSP038005MZO Plain M3X8X0.5t 

R9 WSP038005SCO Plain M3X8X0.5t 

RJO WSP038005SDO Plain M3X8X0.5t 

Rll WSP038100SDO Plain M3X8X1 t 

R12 1 WSP048005SCO Plain M4X8X0.5t 

R13 WSP048005SDO !Plain M4X8X0.5t 

R14 WSP048008SCO Plain M4X8X0.8t 

R15 WSP048008SDO Plain M4X8X0.8t 

R16 WSP04A008SCO Plain M4X10X0.8t 

R17 WSP04A008SDO Plain M4X10XO.St 

R18 WSP04C010SCO Plain M4X12X1 t 

R19 ISP05A008SCO Plain M5X10X0.8t 

R20 ISP05A008SDO Plain M5X10X0.8t 

R21 WSP05C008SCO Plain M5X12X0.8t 

R22 WSP05C008SDO Plain M5X12X0.8t 

R23 ISP06D010SCO Plain M6x13X1.0t 

R24 WSP060010SDO Plain M6x13x1.0t 

R25 WSP06G010SCO Plain M6x16X1.0t 

R26 WSP08G012SDO Plain M8X16X1.2t 

R2T WSP08J016SCO Plain M8X18X1.6t 

R28 WSP08J016SDO Plain M8X18X1.6t 

R29' WSP08J032SCO Plain M8X18X3.2t 

R30 · WSP08N032SCO Plain M8X22X3.2t 

R31 WSP10S032SCO Plain M10X26X3.2t 

R32 WSP12L520SCO Plain M12X20.5X2t 

R33 WSS020000KDO 1Spr i ng M2 ' 

R34 WSS760000KCO !Spring M2. 6 

R35 WSS030000KCO ispr ing M3 

R36 WSS030000KDO Spring M3 

R3T WSS850000KCO Spring M3. 5 

R38 WSS040000KCO Spring M4 

R39 WSS040000KDO Spring M4 

R40 WSS050000KCO Spring M5 

(BH07) 

From the library of: Superior Sewing Machine & Supply LLC




